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[.29  The information on a can of pop indicates that the can

. contains 355 mL. The mass of a full can of pop is 0.369 kg

while an empty can weighs 0.153 N. Determine the specific
weight, density, and specific gravity of the pop and compare
your results with the corresponding values for water at 20 °C.
Express your results in SI units. ‘
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For wuder i 20°C (see Table B.2 15 Appoudic B)
| = 7 -/-H ‘ = éé g =
5 55 77875 A, 76274 Sh=0.9787
A comparison of These values fr waker wiTh Those
for The pop Shows That The 3specitie Weighl,

clensity, aud gpecihii gravity of The pop are all
J/!j/ﬁ‘/g Jowey Than The Corresponding Valyes For water.
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